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 ������   ،   دا��ة ����   ،   دا��ة 	���        

   

  

 ٢ط �ـ�= ����� ا��ا��ة ا�����                  

 ٢ط �ـ�= ����� ا��ا��ة ا�����               

  ا���ض× ا��'ل =         ����� ا�#%ء ا�#��"� 

  ����� ا�#%ء ا�#��"� + ٢ ط �ـ�٢) = ا���ض  × ا��'ل (  + ٢ط �ـ� + ٢ط �ـ�=         ا�+���� ا�*��� 

 

          

   ق  = )ا��ا��ة ا����� ( ��0 ا�#%ء ا/	��         

  ط        وه' ��7وي ا��'ل �4 ا�#%ء ا�#��"�× ق =         �2�3 ا��ا��ة 

        

             �=*� ه>; ا�:��#� ����� ا�#%ء ا�#��"�ق ط ع= ع   × �2�3 ا��ا��ة       

   

   

                                  

  ٢ ط �ـ�٢+ ع ق ط         
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  ٢ ط �ـ�٢+ ق ط ع =  ا�+���� ا�*���                

 


